24.

XYZ Ltd wishes to arrange overdraft facilities with its bankers
during the period April to June 2018. Prepare a cash budget for
the above period from the following data.

Month 2018 Credit Sales Credit Purchase Wages

Rs. Rs. Rs.
February 1,80,000 1,24,800 12,000
March 1,92,000 1,44,000 14,000
April 1,08,000 2,43,000 11,000
May : 1,74,000 2,46,000 10,000

June 1,26,000 2,68,000 15,000

Other information :

(@) 50% of the credit sales are realised in the month foilowing
the month of sales and the remaining 50% with second
month following. '

(b) Creditors are paid in the month following month purchase.
(¢) Cash at bank 1.4.2018 is estimated at Rs. 25,000.
XYZ fmiod oigen eumdudid eund wpae gOar 2018 ey e
Guéeimyl upy gpur@® Qeiw  Opbydpg. Spsstemibd
yereflseflelmbg @ Qrmés eupey Gewey Sl L sflamear Cop@GHlubL
srgdnE swmt Gals. '

wrgb 2018  sLean efhuaan (65.) sLen QaraTripge (¢5.) saed (@)

Gireuf 1,80,000 1,24,800 12,000
oM 1,92,000 1,44,000 14,000
qliged 1,08,000 2,43,000 11,000
Cw | 1,74,000 . 2,46,000 10,000
e 1,26,000 , 2,68,000 15,000

Qg) BEEUDSHET :
(<) sLen fpumanid 50% epumauidmeans CsrLibg 6umHLD
rssdaib, Bsb 50% dpumannus AsTLibs @ram_Teig)

LTSSHDID QUEGHNTEDI]. .
(<) sLaTECeTmEE Qardipsd’ QsTibg eu@mbd WTesHd
Qar@ssliu®Eng. : X h
(@) 2018 guped lé eurdl@miy . 25000 Q@meEn eam
aHTunisstuGE DS ‘
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3.

10.

SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions.

What do you mean by finance? What are the objectives of finance,

function?

BlS updl Bedli oifleug) erenen? HlHuiuanflulen Crnssmisdr wremeu?
List out the various sources of long term finance.
Hear__sme HlHuder LdGaim eparisdr Ly wed(Hs.

What is meant by capital structure?

APOSET HL_L_EDLOLIL| GTETDHITC) GTET6DT?

Differentiate ‘capi’talisatio'n’ and ‘capital structure’.
‘EpganomEse’ HMILD ‘epasear & Lamwliy CanuBsss.
Give the meaning of financial leverage.

B8 ApbLCared erenm QUITmEnaT F([Hs.

Define cost of capital.

APOGET SILE&LD GUEnTIID).

Mention the various components of cost of capital. -
gpger L ssgSlen LwGan ammsamer GOILGGHS.

What is the significance of stable dividends policy?

flene urisTgTL Qametanasufer Splin wrg?

‘What are the assumption of Walters mode theories of dividend?

uisrsTw Gararensudlen eumredL m orSlf oigmioranmbiseT wreneu?

Name the various kinds of working capital.

uoGaum euansWITer Ben_pend (PpFa Auwitsamar GHLUAHS.

nan dqﬂ HMG%\Q'”-W-
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11.

12.

13.

14.

15.

What is a cash budget?
Qrrés eurey Qe St b wmg?

What do you understand by receivable management?

aure] CGuerarenw un Belr yfpgCaTdTag) eremen?
SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

What is financial management? Explain the objectives of
financial management.

B8 Cuereamenn erapmed eraran? g Coenameawuien Crrésnismar
cSlengGa.

A company expects a net income of Rs. 80,000. It has
Rs. 2,00,000 debentures at 8%. The equity capitalisation rate of
the company is 10%. Calculate the value of the firm and overall
capitalisation rate according to net income approach (Ignore
Income Tax).

@ Hniwb Bay eumwrerons . 80,000 erfliurisfng. SipHmwsSd
8% aLen LigHrmger . 2,00,000 &g 2 areng). Creniols LG (PSOTEHS
ez 10% 2p@Ld.

Bl&r auGoTer SIgmGeplUY. SibEnwsddarn wilamuwib siwerds
psrss Afggmgud sansdlhs. (eumorar aflow &smEHd
Qsmerer GeuamrLmid. )

The following information is available in respect of a firm.
Capitalisation rate 10%
Earning per share Rs. 50

Assumed rate of return on investment 12%. Find out the market
price of shares by applying Walters formula. When dividend
payout ratio is 20%.

@ Bneuasdamhs SpsaTamib gaeudsd el sdeammar. PSOTES
Qs 10%. @wm ubdpster eumorand . 50 apsdS@aer Wg)
eadlsslul L auporar efgb 12%. aumdL T Gsdrsamsl uwe G
ukisrtesmw Qevafiiiur® elfsb 20% @BEEGLAUTYE ukiGsafld

g, efleneeniLié STeTs.
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From the following capital structure of a company calculate the
overall cost of capital using.

(a) Book value weights and

(b) Market value weights.

Source Book value Market value
Rs. Rs.
Equity share capital (Rs: 10) . 45,000 | 90,000
Reserved earnings 15,000 -
Preference share capital 10,000 10,000
Debentures : 30,000 30,000

The after tax cost of different sources of finance as follows.
Equity share capital 14%

Retained earnings 13%

Preference share capital 10%

Debentures 5% ’

@ Hpwsder Spsaa epwgar s Ll GBS

(@) g6 wdiy Wefwuggieud

() spews wHIY Ysdwusgead wsdlwapmpl LweLGSS
APDFEN | L_&&F CFmous STens.

audlepaoid G,ﬂi@ wfly  spems wHy
_ (. (-
swiblenay LIk epegend (ef. 10) 45,000 90,000
anauliL) fHlaneoudled eu(meumiil 15,000 -
apenrgmiflaniols LIk epeogenid 10,000 10,000
&6 LISSITEISET 30,000 30,000

UoCaup Heperiseien eufs@L A oiLsss Qsmay lﬁ]cisrm@mrrrcmf
gbleneols LkIG epeged 14%
eeuliy flenavufled eumeumis 13%
wpergfleniol) Lk epeged 10%
sLen LGS pEiseT 5%
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Fixed cost :
Situation A Rs. 800
Situation B Rs. 1,500

+ Capital structure : Financial Plans

I I

Rs. Rs.
Equity capital 5,000 7,000
Debt at 10% 5,000 2,000

ABC flpwsddimps doréan spssrad Gswudur@ whmb
(lpcbg,m Sl Weapuled(mHa) @lc.'p‘rfﬂcu)eu A vpmpb GpHow B &
AHEHCL1b I wpmid NHsH LD 1T s@ Qswed <hpeTsmLUD LHHILD

HE) LDHDOTSTLRIZDETS ST,
e’ L Hpe céqmm 1000 SiEs6r
2 amenouiled 2 HuSH wHmiID edlHuener 800 é{@@a;@h
ellHLianeor cfeve SVGES 5. 20 N
b AFwa&HT ADEG FEIEES 5. 15.
Hlenowimren QFaa e :
Gwhame A @5.\_800
G&whlea B ep. 1,500
| . wager ity B8 ALt

I II
W -

CrirenwoLt UBIE PSD 5,000 7,000

sLair 10% gded 5,000 2,000
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(8

16. A company issues 10,000 10% preference shares of Rs., 100 each

17.

at a discount of 5%. The cost of issue is Rs, 2 per share. Calculate '
the cost of preference capital.

2@ Ao 10,000 10% perayfleniods UkiGseT geQaurenmib e5. 100
geeng 5% garepuipuid QeiefulBHng. Qauefu9 G Gswey Lkis,
RETMIEES (5. 2 (Peraflentoll LG PSET L EEHNSE HTGHTS.
Prepare an estimate of working capital requirement from the
following information_of trading concern.

(a) Projected annur;ll sales 100006 units.

(b) Selling price per unit Rs. 8.

(¢) Percentage of net profit on sales 25%.

(d). Average credit period allowed ~to  customers

= 8 weeks.
(e) Average period of credit allowed by suppliers = 4 weeks

(f)  Average stock holdings in terms of sales requirement = 12

weeks.

- (g Allow 10% for contingencies.

SEP&ETEID 58;@1@8;05]@‘;'551 @ wrury Hyeasdod ComautiLiBibd
BEL_APEDD (PSS &TETS. ‘ \

(=) Qsfley Qeiwiu L e efpuaer 100000 i@ @seT

(<) @m e efhLsmar eflana - 8

(@) efpuemande Hay @aru b 25%

(F)  aumgEmsurasErése SialssUuBbd sLem Ijete] STeb = 8

GUTIFTEIGET P ' N
(2-) Qummer siefliueuiser S@HID SL6T 3jaTey ST = 4 euTphISET
(2ar) eHuena Gg,a)muﬂéh Sjenalilen Frnafl FréE @@Dq 12 eumrpraigeir
(er) erdliumyr @QeanbisEn&EsTs 10% pgissa|b.
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18.

19.

20.

A company has sale of Rs. 100000. The variable costs are 40% of
the sales while the fixed operating costs amount to Rs. 30,000.
The amount of interest on long term debt is Rs. 10,000.
Calculate the combined leverage.

@ Blowsder elpuener . 1,00,000 ou@w. wryu@b CQsweyser

efpuemeruden 5g 40% flenass Qaaeyser ep. 30,000 Barr_sre sl
Bg eliys Qgrens . 10,000, @rrhdlamenhs <0060 ASTWLSHS
ST (HS.

From the following information find out the capital structure.

Rs.
Equity share capital 10,00,000
Preference share capital . 5,00,000

Long term loans and debenture 2,00,000

Retained earnings , 6,00,000
Capital surplus ‘ 50,000
Current liabilities ' 1,50,000

SpsaaL eurmisaiadmBgl ApOFaT SIS SHres.

.
gweo fMenll UkIG APSETD 10,00,000
pegyfleniol Lki@ ppeseard - 5,00,000

Bewr_sre sLanser HMID L6 usdgmsar  2,00,000

QU(HEUITU ENEULIL|&ET \ 6,00,000
gpevgen 2 L ‘ 50,000
BLUL Qurgylygser 1,50,000

SECTION € — (3 x 10 = 30 marks)
Answer any THREE questions.
“The most important cause of business failure is the faulty
financial planning”. Discuss.
“eQurury Carwelse e wéw sryambd seuprar Hs S0 Ce”
cleundlsa. ‘
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21.

22.

A company belongs to a risk class of which the appropriate
capitalisation rate in 10%. It currently has 1,00,000 shares at
Rs. 100 each. The firm is contemplating the declaration of Rs. 6
as dividend at end of the current fiscal year, which has just
began calculate. '

(a) According to M.M. approach what will be the price of the
share if

(1) dividend is declared
(i1) dividend is not declared.

(b) Assuming the company pays the dividend has a net income
of Rs. 10,00,000 and makes a net investment of
Rs. 2,00,000 during the period, how many new shares must
be issued.

@m BHpwbd @LiurGsdr oiflsb o aer cumasamus Caibagl. Digem
wpaonss allflsb 10% shewwid g . 100 & elpuamanunss Falg
100000 uréj(gasso?m Qaram@®ererg). sHEUTE Feumdw BLLUL B
@ (HES LhsrsTwws (. 6 Ggfelssor@uear fimwb Hlamearssng.

sawsS s,

(@) MM. sigmEpopliLy
() umstsTwWb SefldsilLmed

(i) uvBsTsTWD SefssluLTellLTd UBiEG eamlar afama

GTGUTGT?.

(<) <pPpwd wkststub afsfpg aeagb Har @eruwors
. 10,00,000 mpdmg eremmid ep. 2,00,000 yfw wsedBser
Qps panh Cendpg capd eaflis AFHE THS®E
ukiEseT Qeuelud. Couam@BLb erammitd &aw(H91g S&aLD.

Calculate financial leverage and operating leverage under
situatioris A and B and financial plans I and II respectively from
the following information relating to the operation information
relating to the operation and capital structure of ABC Litd.
Installed capacity 1000 units

Actual production and sales 800 units

Selling price per unit Rs. 20

Variable cost per unit Rs. 15
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